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IL + 2L =

adL + IdL =

200mL + 300mL

7L — 5L =

9dL — 2dL =

600mL — 200mL

IL5dL + 7L3dL
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2L + IL =

3dL + 4dL =

100mL + 600mL

L — 2L =

10dL — b5dL =

800mL — 500mL

3L7dL — 2L4dL
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2L4dL

2L4dL

qL8dL

3L5dL

TL7dL

dL2dL

_I_

3L

3dL

ldL

L

7dL — 2dL

adL + 2dL

ldL
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IL&dL + 2dL =

3LodL — bdL =

500mL + 500mL

0L — 2L =
7L9dL ILIdL =
1000mL — 100mL =
1I0dL — 3dL =
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8L2dL + IL&dL =
ILédL + 2L5dL =
1200mL + 900mL =
4L5dL — ILedL =
7L3dL — 7dL =
2600mL — 1300mL =

3L4dL + 2L3dL =
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TL2dL + T7dL =

3L8dL + 4L4dL

5L3dL + 2L5dL

ILodL — [L3dL =
2L4dL — 4dL =
I0L — 5dL =

6L5dL — 2L&dL
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